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Bracket load capacity graphs
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Grafici portata delle mensole
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Bracket load capacity graphs

1 daN = 10 N = 1,0197 kg = 2.2481 lb

f [mm]

P/2 

5 L/6 (L≥400)

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P/2 P/2 

f [mm]IEC 61537

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P

f [mm]

         SWL pag. 13I J

         SWL pag. 13I J

         SWL pag. 13I J

59W TRAVERSINI

0

40

80

120

160

200

240

280

320

360

400

440

Freccia / Deflection [mm] 

Po
rt

at
a 

/ L
oa

d 
ca

pa
ci

ty
 [d

aN
]

0 1 2 3 4 5 6 7 8

600

700

800

900

999

1 daN = 10 N = 1,0197 kg = 2.2481 lb

f [mm]

P/2 

5 L/6 (L≥400)

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P/2 P/2 

f [mm]IEC 61537

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P

f [mm]

         SWL pag. 13I J

         SWL pag. 13I J

         SWL pag. 13I J59W UNIFORME

0

40

80

120

160

200

240

280

320

360

400

440

Freccia / Deflection [mm] 

Po
rt

at
a 

/ L
oa

d 
ca

pa
ci

ty
 [d

aN
]

0 1 2 3 4 5 6 7 8

600

700

800

900

999

1 daN = 10 N = 1,0197 kg = 2.2481 lb

f [mm]

P/2 

5 L/6 (L≥400)

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P/2 P/2 

f [mm]IEC 61537

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P

f [mm]

         SWL pag. 13I J

         SWL pag. 13I J

         SWL pag. 13I J

59S PUNTA

0

20

40

60

80

100

120

140

160

180

Freccia / Deflection [mm] 

Po
rt

at
a 

/ L
oa

d 
ca

pa
ci

ty
 [d

aN
]

0 1 2 3 4 5 6 7 8

400

500

600

700

800

1 daN = 10 N = 1,0197 kg = 2.2481 lb

f [mm]

P/2 

5 L/6 (L≥400)

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P/2 P/2 

f [mm]IEC 61537

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P

f [mm]

         SWL pag. 13I J

         SWL pag. 13I J

         SWL pag. 13I J

60W PUNTA

0

20

40

60

80

100

120

140

160

180

200

220

240

260

Freccia / Deflection [mm] 

Po
rt

at
a 

/ L
oa

d 
ca

pa
ci

ty
 [d

aN
]

0 1 2 3 4 5 6 7 8

600
700

800

900

999

1 daN = 10 N = 1,0197 kg = 2.2481 lb

f [mm]

P/2 

5 L/6 (L≥400)

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P/2 P/2 

f [mm]IEC 61537

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P

f [mm]

         SWL pag. 13I J

         SWL pag. 13I J

         SWL pag. 13I J

60W TRAVERSINI

0

40

80

120

160

200

240

280

320

360

400

440

480

520

Freccia / Deflection [mm] 

Po
rt

at
a 

/ L
oa

d 
ca

pa
ci

ty
 [d

aN
]

0 1 2 3 4 5 6 7 8

600
700

800

900

999

1 daN = 10 N = 1,0197 kg = 2.2481 lb

f [mm]

P/2 

5 L/6 (L≥400)

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P/2 P/2 

f [mm]IEC 61537

1 daN = 10 N = 1,0197 kg = 2.2481 lb

P

f [mm]

         SWL pag. 13I J

         SWL pag. 13I J

         SWL pag. 13I J60W PUNTA

0

20

40

60

80

100

120

140

160

180

200

220

240

260

Freccia / Deflection [mm] 

Po
rt

at
a 

/ L
oa

d 
ca

pa
ci

ty
 [d

aN
]

0 1 2 3 4 5 6 7 8

600
700

800

900

999


